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1. Generalised uv rule : 
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Where : dashes  denotes  derivative,  subscripts denotes integration 

2. 
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3. 
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Part – I :  

Concept of Laplace Transform 
Type – I : 
Find the laplace transform of the following :
(i) f(t) = t

0 < t < 5
      = 0    
t > 5

(ii) f(t) = sin 2t
0 < t < (
      = 0

t > (
Type – II :

Find the laplace transform of the following :
(i) sin t

(ii) sin2 t

(iii) sin3 2t

(iv) cos 3t . cos 2t . cos t

(v) sin t . cos 6t . cos 2t

(vi) 
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(vii) cos ((t + ()
(viii) 
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Type – III :

Find the laplace transform of the following :

(i) 
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(ii)    
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Type – IV :

Evaluate the following integral :

(i) 
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    (ii)   
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(iii)   
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Type – V :

First shifting property :

If 
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Find the Laplace transform of the following :

(i) e2t . sin t




(ii) e4t . sin33 t



(iii) cos ht . sin 2t

(iv) e4t . cos ht
(v) (t + 2)2 et
(vi) 
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(vii) e-t . sin2 t

(viii) 
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(ix) 
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(x) sin h4t . t4 . e-2t
(xi) sin 2t . cos t . cos h2t

Type – VI :

Change of scale property : 

If 
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(i) If 
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(ii) If 
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. Find L(t4 . sin ht. cos ht) = ?

Type – VII :

Second shifting property : 

If 
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g(t) = f(t – a)
  t > a

       
       = 0     
  t < a

Then 
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(i) Find L.T. of g(t) = (t – 2)3       
t > 2

  


= 0  

t < 2

(ii) Find L.T. of 
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Type – VIII :

Effect of multiplication by powers of t :

(i) L [t. sin at]

(ii) L [t2. sin at]

(iii) L [t. e-4t. sin 3t]

(iv) L [t. cos h3t]

(v) L [t2. e-t. sin 4t]

(vi) Find L [t4. Sin h2t. cos h2t] & hence find L (t4. Sin ht. cos ht)

Particular value of L [t. f(t)] :

(i) Evaluate : 
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(ii) Evaluate : 
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Type – IX :

Division by t :
If 
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Evaluate Laplace transform of the following :

(i) 
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(ii) 
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(iii) 
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(iv) 
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(v) 
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Particular value of 
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(vi) Evaluate 
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(vii) 
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(viii) Prove that  
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(ix) Prove that 
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(x) Prove that 
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(xi) Evaluate  
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Type – X :
Laplace Transform of Derivative :

If  
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(i) Find 
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(ii) Find 
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Type – XI :

Laplace transform of Integral : 

Find Laplace transform of 

(i) 
[image: image49.wmf]ò

t

0

du

u

2

sin


(ii) 
[image: image50.wmf]du

u

.

e

3

t

0

u

2

-

-

ò


(iii) 
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(iv) 
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Type – XI (a) :

Laplace transform of sine, cosine & exponential integrals :

(i) Obtain Laplace transform of 
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(iv) Obtain 
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